Ucnonb3oBaHue anrebpbl NOrukn

3agava. Criegyrouime aBa BblCKa3blBaHUA UCTUHHDI!

1. HeBepHO, 4TO ecnun kopabsb A Bbilwen B Mope, To Kopabrb C — HeT.

2. B mope Bbiwen kopabnb B unu kopabnb C, HO He oba BMecTe.
OnpenenuTb, Kakne Kopabnu BbILWLSIN B MOpE.

PelwleHue:

... ecnu kopabsnb A BbiLLEN B MOpe, TO kopabsrb C — HeT. A—->C=1

1. HeBepHo, 4TO ecnu kopabnb A Bbiles B — —
mMope, To kopabnb C — HeT. A—->C=0 A—>C=1

2. B mope Bbiwen kopabnb B nnu kopabnb C, HO He 06a

BMeECTE. [ B@CZI }

(A->6)&(B@C)=1 (KVE)&(B&EVE&C)
A&C&(B&CvVvB&C)=1
A&C&B=1 | A=1, B=0, C=1 |
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